MATH 108 - QUIZ 5 - 23 FEBRUARY 2011

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. (3 pts. each) Let f(z) = 2* — 3z.

(a) Use increments to estimate by how much the function f(z) will change when z increases
from 5 to 5.5.

((a=2x-3 abaltipax 2ax=585-5=.5
AL £ (.8) =(2(D-3)(S) =7 (5= 3(57/

(b) Find the ezact change in the function f(z) as r increases from 5 to 5.5.
AL = L£(5.5)—L(5) = ((55)"’*’ 3(s s*))~—(51~ 3.5)
= 30,25 —l6.5— (O ’
= 3.5 o

2. (3 pts. each) Suppose the total cost in dollars of manufacturing g units of a certain
product is C(g) = 3¢% + g + 500.

(a) Use marginal analysis to estimate the cost of manufacturing the 11th unit.
A _ \ _
peclp)pg Ag=l, ClE)=6g +

e (n _ _
AC./\, C(WBCO« o\ &uﬂr\?//

(b)’ Find the actual cost of manufacturing the 11th unit. |
pe = D=0 =(31N>+1+58Q)
—(301) +10 +§<%;
- —310 = o :
2374 —31 64 oQHw\s‘/
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Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. (3 pts. each) Let f(z) = 22 + 2z.

(a) Use increments to estimate by how much the function f(z) will change when z decreases
from 4 to 3.5.

AR 2 AKX PX=2,5-4 = —.§
£l = 2w+ 2,

2 ) (=.5) =@ ) 6 = (0 €)= -5

=

(b) Find the ezact change in the function f(z) as z decreases from 4 to 3.5.
AL = L3S~ R(H4)
= [(35*)21‘—1(3,?)] ~[ 4> +24]

= WasS -2 = =175 o

2. (3 pts. each) A manufacturer’s total monthly revenue in dollars generated by producing
g units of a certain product is R(q) = 300q — 34°.

(a) Use marginal analysis to estimate the additional revenue the manufacturer will receive
by producing the 21st unit.

ARx R(PAY  AF=al-a0 =1
o €=20 R'(%)=300 6% |
AP~ uz((zﬁch = 300 ~—(p(1o> = (R0 dollons / ‘

(b) Find the actual additional revenue generated by producing the 21st unit.

ne= R (2D-RMo)
= (300 ClD "3(2'(3’)'_)’ (3@7\62_0)—-— 3(20379

=977 — 4800 = (17 dollass




